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The booklet contains OMR sheet and having two
seals. Candidates will first open the booklet by
removing the seal at the top to get the OMR sheet.
Second seal will be removed two minutes before the
commencement of the examination.

Before starting the Examination, the candidate must
write her/his Roll Number in the Question Booklet
and the OMR Answer Sheet; in addition to putting
signature at the places provided for the purpose.

This Question Booklet consists of this cover page, and
a total 100 items. Use Blank pages available at the
end of Question Booklet for rough work.

There are four alternative answers to each item
marked as (a), (b), (c) and (d). The candidate will have
to select one of the answers that is considered to be
correct by her/him. S/he will mark the answer
considered to be correct by filling the circle.

Use black/blue ball point pen to darken the circle.

See the following illustrations.

[llustration:

1. Thesum of 20 and 12 is

(@) 32 (b)38(c)31(d)34

The Correct answer of item 1 is (a), which should be
marked in OMR Answer Sheet as under:

3 1000

Half filled, faintly darkened, ticked or crossed circles
will be read as wrong answers by the optical scanner
and will be marked as incorrect.

The OMR Answer Sheet must be handed over to the
invigilator by the candidate before leaving the
Examination Hall.

Keep OMR Sheet straight. Do not fold it.

All questions are compulsory, each question carries
one mark.

Incidence of carrying of calculator/mobile/any
electronic  device/objectionable material will be
treated as unfair means case.
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Computer Aptitude
. Access time of cache memory is 15 ns and access time of main memory is 200 ns.
Hit ratio is 0.7. What is average access time to access the data?

a) 70.5ns c) 70 ns
b) 15 ns d) 75 ns

. HY AERT BT TR TI3H 15 TIUY g 3R I AHR! &1 TR 59 200 TI0Y gl fge
3{IATd 0.7 8 | STT A Uga & fod 3fIId Ugd THd &1 82

a) 70.5ns ¢) 70 ns
b) 15 ns d) 75 ns

. If the likely hood (probability) of getting a cache hit goes down, the average access time

a) Goes up c) Remains same
b) Goes down d) Unpredictable

. gfe H27 fgc 8F &1 GUTGHT (FHTET) HH 81 Silclt 8, o 3Nd T 7Y

2) SR Sl g ¢) TEIEATE

b) e d) syfid
. FFF will be the last memory location in a memory size

a) 4K ¢) 32K

b) 8K d) 16K
. FFF memory 3TR H Sifad Ffd R MM

a) 4K c) 32K

b) 8K d) 16K

. A thread is a light weight process. In the above statement, weight refers to

a) time c) speed
b) number of resources d) All are Correct

. U thread b o BI Uiohd 5| IIIGd HYA H, Iol- HI A §

a) gug ¢) WS
b) TETEH B T d) IgIE g



. What is the output of the following program?
main()

{inta=10;

if(fork() == 0)

at+:

3

printf(*%d ,a); }
a) 1011
b) 11

. Fafafad g o1 sieege | R?

main()
{inta=10;
if(fork() == 0)
att;

printf(’%d ”,a); }

a) 1011
b) 11

. MS-Word 2007 supports Minimum zoom up to

a) 5%
b) 1%

. MS-Word 2007 TATHTH ST IHIT Rl g

a) 5%
b) 1%

. A system contains three programs and each requires four tape units for its operation. The
minimum number of tape units which the system must have such that deadlocks never arise

is
a) 9
b) 6

. TSP YUt # a9 BripH Bd & SR UdD &l 39 JITa- & (oIl IR U Sh1sdl I IR
Bl €1 ¢U 13l &1 gAaH T off Ried # Tt g 91fet fob ekl i Saa 9 8l

a) 9
b) 6

c) 10
d)y1111

c) 10
d) 1111

c) 10 %
d) 4%

c) 10%
d) 49%

c) 7
d) 8

c) 7
d) 8




8. Consider the following statement in C language.
x=(a<b)?((a>c)?a:c):(b>c)?b:c;
What will be the value of x ifa=4, b=-6 and ¢ = 3?

a) 2 c) -5
b) -4 d) 3

8. fgfeRad By IR ¢ HIWT H faeR Sifeg|
x=(a<b)?((a>c)?a:c):(b>c)?b:c;

TG a=4,b=-6 3R c=3 B dl x BT A HT G

a) 2 c) -5
b) -4 d) 3

9. What is the output of the following program? “Assume required header files are included”

void main()
{ printf("%d", f(6));  }
int f (int x)

{ if (x <=0)
return 1;
return f(x — 1) +x; }
a) 16 ¢) 15
b) 21 d) 22

9."]1 of o qegSd Wi WIgel WA & FFICIRIT UIU™ BT 39T Y& &1 BT ?
void main()
{ printf("%d", (6)); }
int f (int X)

{ if (x <=0)
return 1;
return f(x — 1) +x;  }.
a) 16 c) 15
b) 21 d) 22

10. Which one is not a Function in MS Excel?

a) MAX c) AVG

b) MIN d) SUM
10.TATY TR H DI 9T o Tal 82

a) Ny c) 3d

b) i d) =m
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11.

12.

12.

13.

13.

14.

14.

a) Google Slides c)
b) Google Files d)

is the best alternative to MS Excel offered by Google Inc.

Google Sheets
Google keep

Google 3% gRT U fahT 77T THTY oA T Jad 33T fdhed 3|

T Riicd
T B

a) T W3S c)

b) 1T wrgat d)
Which operator cannot be overloaded in C++?

a) * c)

b) - d)
28 G Sl foha1 g7 SNaRclls Bl SiTuReR ford H ++C

a) * c)

b) - d)

In 32bit [P Addressing scheme all 1’s represent

a) This computer c)
b) Limited broadcast d)

32 fore ST TSR giormr & T3t 1 o1 ufafRfica Bvd 8

a) I8 PR c)
b) ifd TR d)

Di-directed broadcast
Loop back

IECEIGRCESIRY
q@ 9

Function that is not a member of a class but has access to the class's private and protected

members in C++.

a) static function c) constructor
b) destructor d) friend

o ol fhat af T Te 8t 8, Afch C++ T e & (ol 3R TRiéd gegi db

Ugd 39 |
a) static function ¢) constructor
b) destructor d) friend



15. Which operator has highest precedence in below list in C++?

a) + c) *

b) . d) ++
15. C++ o = &Y 718 I H ford SHfaRex &) qate Wryfidsdn g2

a) + c) *

b) - d) ++
16. In C++, which operator is overloaded for cout operation?

a) >> C) >

b) << d) <<<
16. C++ H DI T SHTIRC cout STURYH P T SRS &2

a) >> c) >

b) << d) <<<

17. How many 16K X 1 RAM chips are needed to provide a memory capacity of 128 K-bytes?

a) 8 c) 64
b) 32 d) 128
17. 128 K-ST3¢ ! AART &HdT USH B+ & [T fha= 16K X 1 RAM I &) 3azgesdr g2
a) 8 c) 64
b) 32 d) 128

18. In a class B network on the Internet has a subnet mask of 255.255.240.0. What is maximum
number of hosts per subnet?

a) 1022 ) 4096
b) 2046 d) 4098

18. eXC R I 8t Hedd H 255.255.240.0 T & ARD gidl o | Ufd Fa¢ H gRE &I
3B T=T T 872

a) 1022 c) 4096

b) 2046 d) 4098
19.Which Layer is not present in TCP/ IP model?

a) Application Layer c) Internet Layer

b) Transport Layer d) Presentation Layer
19. A/t Afed § o Wl IRd HAIN[E 7ol 87

a) Application Layer c) Internet Layer

b) Transport Layer d) Presentation Layer



20. Which of the following is not a constructor in C++?

a) Friend constructor C)

b) Parameterized constructor d)
20. FEfeiad & § &H C++ | dgdex 81 82

a) o higdex c)

b) WRnflexged degacy d)
21. Concept used for late binding in C++ is

a) Friend function C)

b) Static function d)
21. C++ ¥ die afET & fore vgad Sy §

a) Friend function C)

b) Static function d)

Default constructor
Copy constructor

fEWhice ey
DI eI

Virtual function
Inline function

Virtual function
Inline function

22. Which one of the following can not a member of the class in C++?

a) Friend function
b) Static function

c)
d)

22. FfAf@d B 9 &F C++ & H&T T G e] 8l Ihdl &2

a) Friend function C)

b) Static function d)
23. In IP addressing scheme, class used for multicasting is

a) Class A C)

b) Class C d)
23. MU TSR Ao H, HediapTReTT & o ugad ovl @

a) PETA c)

b) ®enC d)

Virtual function
Constant function

Virtual function
Constant function

Class B
Class D

hETB
DET D



24. The total number of classes of IP address in IPV4 are

a) 3 c) 4

b) 5 d 9
24. TG4 T ST TSH & aFll &1 Hol AT §

a) 3 c) 4

b) 5 d 9

25. A CPU processing power 1s measured in

a) BITS ¢) CIPS
b) MIPS d) Nano-Seconds

25. T CPU TRIXHUT Yfad b1 | AT STl &

a) foey c) demsdiey
b) wHIMSUITH d) S 95

26. A counting semaphore was initialized to 12. Then 4 P (wait) operations and 6 V (signal)
operations were completed on this semaphore. The resulting value of the semaphore is

a) 0 c) 14
b) 8 d) 10

26. T HI3IET JATHR I 12 T IRY fobar a1 o1l R 39 J0HR W 4 dF (wrchtam

a1 SR 6 (R Tare QR1 fosan a1 o1 | IATHR &1 giRomH 9 §

a) 0 c) 14
b) 8 d) 10

27. What is the output of the following program? “Assume required header files are included”
void main()

{ inti,j;
for (1 = 27.] - 129 i <j 5 i++9j__)
printf("x"); }
How many times letter "x" will be printed?
a) 1 c) 4
b) 5 d) 10



27. € A Hrsd LMuerg RIS foh o A" 78 T 3HT3TYC BT Ui FHafeiad

void main()
{ inti,j;
for (i=2,j=12;i<j;it+ j-)
printf("x");  }
forct TR 31&R "x" BU
a) | c) 4
b) 5 d) 10

28. What is the output of the following program?“Assume required header files are included”
void main()
{ intx=3;
printf(“%d %d”, x >> 1, x << 2);

}
a) 1,6 c) 6,12
b) 1,12 d) 0,12

28 . ¢ M WISd UMY HTTRIS o o A" 28 FT 3T3eYe &1 U FufaRad

void main()
{ int x = 3;
printf(“%d %d”, x >> 1, x << 2);
b
a) 1,6 c) 6,12
b) 1,12 d) 0,12

29. Which Protocol provides E-Mail Facility among hosts

a) TELNET ¢) SMTP
b) FTP d) SNMmP

29. B T WICIPbid Hola! & S 3-Hal GaeT TeH &dl §

a) ca-c c) THEACIG!
b) Tw d) THTTAdl



30. Which of the following is not valid octal number?

a) 27 c)

b) 127 d)
30. Faforad & Q ®IF 34 3 J-T 781 872

a) 27 c)

b) 127 d)

31. The number of bits needed to address 4 K memory.

a) 12 C)
b) 16 d)

31. 4 K BHRY &l Galfdd o o o sazasd foey ot g

a) 12 C)
b) 16 d)

32. Which of the following is not a valid Linux command?

a) who c)

b) Is d)
32. FEfifad & ¥ & 34 Linux $HTS T8l 82

a) who c)

b) Is d)

28
77

28
77

how
kill

how
kill

33. Main purpose of time-sharing techniques used in computers is to make the best use of the

a) CPU c) Peripherals
b) Secondary Storage d) RAM

33. SR T UGN B! S dTell TTSH-]IART Th-1h| BT T Ie-7 BT Faiad SUINT

HT B
a) i:ﬂlﬂq\ c)
b) He®s By d)

TR SUHRN

RAM



34. Banker’s algorithm for resource allocation deals with

a) Deadlock prevention c) Mutual exclusion
b) Deadlock avoidance d) Deadlock recovery

34. YT 3MTde & T dp T TERYH fordd Ty efdd g2

a) TCRIY ADYUH c) St afgshR

b) 7RIy 9 §ard d) wfeRIY agett
35. What is the value of following expression in C?

15 & 4;

a) 1 c) 3

b) 4 d) 14
35. C ¥ fafafaa aioie &1 aH a1 82

15 & 4;

a) 1 c) 3

b) 4 d) 14

36. In which of the storage placement strategies a program is placed in the largest available hole
in the main memory?
a) Best Fit c) First Fit
b) Worst Fit d) Buddy

36. T TR wiHe s H U & 39 3R H 999 a8 SUdsy g1 | 4T SI1dT 57

a) gardH A ¢) Ugdl fthe
b) IaY W@ flhe d) et
37. The result of -8 mod 13 is:
a) -6 c) -5
b) 13 d) 5
37. -8 Al 13 &1 URUTH &
a) -6 c) -5
b) 13 d 5

10



38. Part of a program where the shared memory is accessed and which should be executed
indivisibly, is called
a) Semaphores ¢) Directory
b) Critical Section d) Mutual Exclusion

38. YIUTH &1 98 HINT T8l A1e HER! & Tay fhar oar § ok ol sifgvrss & u 3
fysqrfee fara s =nfeu, weard &

a) JATHRY c) FERmem

b) wgagul ST d)  suft sfgssor
39. Access time is the fastest in the case of

a) DVD ¢) RAM

b) Cache memory d) Magnetic disk

39. UEd &1 9T & AT H o ool §

a) SIdis! ¢) RAM

b) Tz Aad d) daaigfes
40. && and || in C programming are

a) Logical Operators c) Bitwise Operators

b) Relational Operators d) Arithmetic Operators
40. && 3R || O H €

a) dford SiReH c) focargs gy

b) Rz sffved d)  sfepTIford dereie

41.To avoid race condition, the number of processes that may be simultaneously inside their
critical section is/are

a) 0 c)
b) 4 d |1

41. gl & UMY ¥ T99 & oY, I8 Ag@yul We & 3iax U 1Y g arait ufsharstt &l
qBI 8/ 8
a) 0 c)
b) 4 d) 1

11



42. The two input Multiplexer (MUX) would have

a) 1 select line c) 2 select lines
b) 3 select lines d) 4 select lines
42. Gl FYC A IWRR (MUX) | B
a) 1 Ufad & 999 &2 c) 2 Ufad HT T B
b) 3 Ufe &1 T DY d) 4 Ul &1 9T B
43. The best adequate Normal Form for normal relational database is
a) 2"'NF ¢) 3"NF
b) BCNF d) 4" NF
43. T SEYIRS Sclad & [l Jad 3] Jaftd I HiH g
a) 2" NF c) 3“NF
b) BCNF d) 4" NF
44, is a special type of stored procedure that is automatically invoked whenever the
data in the table 1s modified.
a) Procedure c) Trigger
b) Cursor d) Insert

4. o U ORIV YR o1 TUeid Ufhar g Sl difeiesT H ST AYd g4 IR WaTfeld 34
RS

a) gichar c) fgR
b) HT d) Jfehferd e
45. After a table has been created, its structure can be modified using the SQL command
a) Update c) Modify
b) Change d) Alter

45. dIfeTehT S99 & 91, SQL HHIS BT ITURT B B! T H1 TXNAT fbam &1 Tbar @

a) Update c) Modify
b) Change d) Alter
46. Which SQL command is used to permanently remove all of the rows of data from a table and
reduce its storage space?

a) Drop ¢) Truncate
b) Remove d) Delete

12



46. AT A ST ot JHY UfFadl ot iRl U I g 3R 3B JUSU WM Bl HH HI

& fore for sQL wHTE &1 39T fohan ST &2

a) Drop
b) Remove

47. The Data Manipulation Language statements are

a) Insert, Update, Delete
b) Drop, Comment

47. 321 AfYRAR HTST Fo &

a) Insert, Update, Delete
b) Drop, Comment

48. UPS attached to Desktop Computer Stands for

a) Unified Power Structure
b) United Preordered Supply

48 SIPHel] Hugex I osT guiey &1 31 §
a) Tblpd ekt TR
b) g Yd-3MefRra sy

49. The contents of

a) Storage
b) Input

49. YR b ¥ TH W Bt gt T Tt §
a) Storage
b) Input

50. Microsoft word 1s software.

a) Application
b) Programming

50. ATEHIAGE 95 HIedmR g |
a) Application
b) Programming

13

are lost when the computer turns off

c)
d)

c)
d)

Truncate
Delete

Define, Create
All are correct

Define, Create
All are correct

Unordered Privilege Structure
Uninterruptible Power Supply

AT faRwfeR W=
3T faggd Smyfe

Output
Memory

Output
Memory

System
Compiler

System
Compiler
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Research Methodology

Th MY & o smaxas gardam - 51
a) TNTRITT, Hiera, Reple, e, 3R fawg
b) Td&, fawd, Agaqul fazawor, ofiR &
¢) SR, Tdaerd, fawg, ok I o
SEIGIEE]
d) fowg, vdaere, sra1 WHTE, Sk gdfuffed
Hbad

Tefded U & fae @ieguf, qufHras sk 52
faRAYUTeHS W SfegHl BT il vl SeRd &-

a) GEY

b) aiRomg

DRCER

d) 3E=

YTHIOT It Sl & AHTE R TR TR 53
TGN ERDHIV & YUTAl Bl @ o folE Th
T3 A Uard | U 39 [har| I8 U

RIARRU R
a) JUHIHD ST

b) & W
) HHERR HTHYHE
d) Ui Srgaiem

ST For T [NeYdhdl U TRUT & o [oned >4
Ui 3R g¥R TRUT & o ARTEHS UfaHH &1
IYINT Bl ©, Hedldl &

a) HRATS U

b) gt U™

c) HETHG T

d) fafsra fafy srdem

R i I s T sy T §? 55

a) WY P Il DI JR & ugd e | Farn
Y

b) TNl b U fARAYUTEHD &FT - T1eT

c) uRad-T=iadr THwr BT did §

d) IWIad gt

14

The essential prerequisites of a research -

a) Laboratory, skills, records, supervisor,
and topic

b) Supervisor, topic, critical analysis, and
patience

c) Archives, supervisor, topic, and
flexibility in thinking

d) Topic, supervisor, good temperament
and preconvinced notations

The classification of studies into
exploratory, descriptive, and analytical for
predictive research is based on-

a) logic

b) outcome
c) process
d) purpose

An organization conducted a study in a
Panchayat to see the impacts of
companion approach on enrollment and
retention of rural school children. This is
an example of

a) descriptive study

b) field experiment

c) ex-post facto research
d) historical research

Research in which the researcher uses the
gualitative paradigm for one phase and
the quantitative paradigm for another
phase is called

a) action research

b) basic research

c) quantitative research

d) mixed method research

Which of the following statement is true?

a) objectives of research are stated in first
chapter of the thesis

b) researcher must possess analytical
ability

c) variability is the source of problem

d) all of the above
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57
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U SFEYH A IR Uihar gl &
a) 3fdaied

b) BXBR R QIR

c) fgEm

d) Je 9ug

HIY &1 I IR =Y DI 91 UAFT 8
a) AHHAE

b) HHIAD
c) 3HaRId

d) srgurd

[ URS T BT TRIE0 B3 & T Teb Tnefaval
SUINT Bl §

a) t-test

b) el
c) I WRR ¢
d) gurE® fazeyo

TS 3eqg eTid &-
a) TR B EIWBR

b) IR WRIex

c) STHY P UldPpid

d) I BT FA&or

T H TNYBAl gRT IIWR fHT T R &) Hal
ST 8

a) ufaferar =R
b) TWdd =R
C) RIERECH
d) §Ed =R

HAHTHS TR DT Th IaT80T §

a) S fafy

b) I=ray Qe Argar

c) fHd o1l & A & T ara 9Hd
d) URcd Hls
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The process not required in experimental
research is

a) observation

b) manipulation and duplication
c) controlling

d) reference collection

Which scale is the simplest form of
measurement

a) nominal

b) ordinal

c) interval

d) ratio

To test null hypothesis a researcher uses

a) t-test
b) Innova
c) chaisquare test
d) factorial analysis

The experimental studies are based on-

a) the manipulation of the variable
b) conceptual parameters

c) replication of research

d) survey of literature

The variable manipulated by the
researcher in the experiment is called the
a) response variable

b) independent variable

c) dependent variable

d) extraneous variable

An example of quantitative variable is
a) date of birth

b highest educational qualification
c) time taken to complete a task

d) postal code
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63

64

65

66

67

T & 3MYR R YHRAPd &Py & =0 H ST
ST &

a) ScT fadyur 3R sarem
b) Rflex 3AM

c) iR SFHM

d) IWRiad gt

fafafad 7 9 o w1 ufafAf T srawa® 82
a) wdemur fafy

b) TS fafd

c) IRt

d) Aerfe fafd

FERER THATHRUN BT SUTNT & {haT ST 82

a) oFReT faRadt g3 § iR AT SR F87 T
EIEIE

b) SERET favyg &

¢) T e B} oReRd §

d) aFfa 3R ¢

9 & A B ST 4UT &t U fafy e 52
a) gyradt

b) TT&TPHR

c) fadid

d) T

fFafiad 9 o R aef<se ufawem ugfa @
RS

a) gfayT FHATHRUI

b) ¥RIPHd AfRsDh TLATHUI

c) IR HATPRUT

d) TR e ®

ST & forT U gt SeT 3R uRkom & te
3ifYp A H TBTRId B3 o1 B FHafafaa &
Y forg IR e, ! YePfa wrar g

a) SfifRI® HdIRH

b) SRidhc UHIRH

) Ui UhRH

d) SWied § B T
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67

Generalized conclusion on the basis of
sample is known as

a) data analysis and interpretation
b) parameter inference

c) statistical inference

d) all of the above

Are representative sample is essential in

a) survey method

b) experimental method
c) case study

d) clinical method

Cluster sampling is used when

a) population is scattered and sample size
is to be kept large

b) population is heterogeneous

c) long survey is needed

d) bothaandc

Which of these is not a method of Data
Collection?

a) questionnaire

b) interviews

c) observation

d) experiments

Which of the following is an example of a
non random sampling method?

a) convenience sampling

b) stratified random sampling
c) simple sampling

d) cluster random

The act of publishing the same data and
result in more than one journal for
Publication refers to which of the
following professional issues

a) partial Publication

b) duplicate Publication
c) full Publication

d) none of the above
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72

STy o 8

a) SIUYH T & forg Joft Siecataf gRI
3OS TS U T fafy

b) TUNTEAS T AHTHD TRidb] DT SUART DA &
o9 sifaw fawe

c) SraYM Fhul B IRl

d) 3T IUT 3R ITP fITAT0T & &R TR0 & g
T UMl

1§ U TR P AH 96 38T 5, AR G | HT qH
1t 5¢ |1 ] A TETSY 0TS T SITI?

a) YHRIHD

b) THRIHD

o LA

d) SWIgd H I DI A8l

TP BT B T Y URW & TP e I T ARy
sy T Bt ufshar 2

a) daarg
b) fFTHATE® I
) SMTHATES do
d) "

U 3R AP S/ & 9T &1 Yadhid a

A3 S HYT F ey H FafafRad d a3

PHRU T §?

a) P R TS S A e &) aferd T g

b) Hifes R&D ot 4] & ANl & Sila wR
JYR FR Fhdl §

c) Fifer R&D forlt 3z A yraferd arafas anfife
3R g Rl ) exifar &

d) SWRiad Tt

TH Ao RS I ARATES UGid §
frafafad un & ¥ T 76! g ANy
a) A

b) AT

c) ?‘El:ﬂﬂ?ﬂ

d) IUGdI
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The Research design is

a) acommon method adopted by all
researchers to carry out research

b) the final choice between using
gualitative or quantitative methods

c) presentation of research findings

d) a Framework for every stage of the
data collection and its analysis

If the value of one variable is increasing,
the value of second variable is also
increasing then the correlation Coefficient
will be

a) positive

b) negative

c) zero

d) none of the above

Which form of reasoning is the process of
drawing a specific conclusion from a set of
premises?

a) rationalism

b) deductive reasoning

¢) inductive reasoning

d) probabilistic

Research and Development become the
index of development of country. Which
of the following reasons are true with
regards to this statement?

a) Because R&D targets the human
development
b) Because R&D can improve the standard
of living of the people in a country
c) Because R&D reflect the true economic
and social conditions prevailing in a country
d) All the above

A satisfactory statistical quantitative
method should not possess one of the
following qualities

a) Flexibility

b) Measurability

c) Comparability

d) Appropriateness
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a) SIHYM Pt AT BT 31 W T4 & forg

b) SFIHYM & fore gHU BP0 aF & forg

c) STHYM UGl H Ud 73 g UaT A & forg

d) SFIYYM &7 § Uhd a0 & SR &I HH B
& forw

I STHUTH B! o7 fIRwT &
a) AJHau

b) Jsifa®

c) TARTHS

d) SWIed I+t

TH Y TGS B GO 9 A T B
a) qear

b) fsaeran

) Aferear

d) SWIed gt

5% fayfdenedl §, 4% oW 6 Bl ¥ 3f® oo §
3R 1% AR 6 Wic I S el §| Fd SH
ST DI Afgarsil & ugl o 3:2 & Ui §
fawiford fasar man 31 afe B8 Bie ¥ sifde dd
JE T Y TS BH S TEfad® ©U Y 1 ST &,
1 39 910 31 71 el § % BT T Afger 82

a) %
b) %
C) Y
d) Yo

STHY Y 3T dgH & forg, Fafafad 7 9
P! Sazgedr g2

a) T® Y fooms fow g &

b) TP MY UY IR BT

c) S faawur ufsrar & IR H fofg o=

d) T MY YRBAT IR HIAT
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What do you consider as the main aim of
inter disciplinary research?

a) To over simplify the problem of research
b) To bring out holistic approach to research

c) To create a new trend in research
methodology

d) To reduce the emphasis of single
subject in research domain

The main characteristic of scientific
research is:

a) empirical

b) theoretical

c) experimental
d) all of the above

Authenticity of a research finding is its:
a) Validity

b) Objectivity

c) Originality

d) All of the above

At many universities, 4% of men are
over 6 feet tall and 1% of women are
over 6 feet tall. The total student
population is divided in the ratio 3:2
in favour of women. If a student is
selected at random from among all
those over six feet tall, what is the
probability that the student is a
woman?

a) %

b) %

C) ¥

d) Yoo

In order to pursue the research, which of

the following is required?

a) Developing a research design

b) Formulating a research question

c) Deciding about the data analysis procedure
d) Formulating a research hypothesis



39 JuTies & &1 14 1 g forgw ey fpan 78 What is the name of the conceptual

SITdr %‘? framework in which the research is carried
a) SFHYU R out?
b)  SHY BT AR a) Research hypothesis
. b) Synopsis of Research
c) STHY UfaHH

c) Research paradigm

d) SFFHY SIS
2 &) Je far e § - 2y fafdr (@?—Q) 3R a1 79  Below are given two sets — research

d) Research design

UG IUBRY (Je-d) | E(P[@'CPIW ERIEEIEEIN methods (Set-A) and data collection tools

ﬂgr_dm P {, : % w@z IS (Set-B). Match the two sets and indicate
E:E- Q) SI3aHr - o) SEE your answer by selecting the correct code:

( ( Set — A (Research | Set — B (Data
Methods) Collection Tools)
a. U fafdr i, T iR - Exoer T ——
. . Experimental i. Using primary
|§Ei|q5|5 élfil B2l method and secondary
ST AT sources
b. PIRR fafY ii. g b. Ex post-facto ii. Questionnaire
c. TUFTEHD TA&ITT | iii. ATTCTHTG TRieq method
fafer c. Descriptive iii. Standardized
0. e O | v, TR survey method | tests
e d. Historical iv. Typical
Codes. method characteristic tests
Codes:
? b c d a b C d

a) i i iii iv - ) ]

b) iii iv i i a) ” ' “' '_V

o i ii i iv b) i iv i i

d) i iv iii i c) i iii i iv

d) ii iv iii i

ELINITERREE] WWWW@?W@ 80 Which of the following sequences of research steps

I ugfad & Rec 22 is nearer to scientific method?

a) THW S JT GHIYH, AT & TRUTH a) Suggested solution of the problem,Deducing
frepTerT, T o1 R 1 JHST, B3RS BT the consequences of the solution, Perceiving
RITT 3R GHTYT DT URI&UT BT the problem situation, Location of the difficulty

b) A P U D JHT, IRAfds THRT 3R and testing the solutions.

ITD! URYUTHT BT TdT A1, GRS TAT BRI, b) Perceiving the problem situation, Locating the

T 1T FHIY ¥ ufvoral o) et 3R B actual problem and its definition, Hypothesizing,
q Deducing the consequences of the suggested

T R BT URIEUT BT

solution and Testing the hypothesis in action.

c) ol T &I g 1, 98T o

c) Defining a problem, Identifying the causes of the

DRUN B UG DT, SHEEHAT bl TRHTS problem, Defining a population, Drawing a sample,

DT, THAT dIR PRI, 3T THA Bl AR Collecting data and Analysing results.

JIROM W\‘HQE-INUI P d) Identifying the causal factors, Defining the problem,
d) BRI BRD! DI Ugd B, THAT DI Developing a hypothesis, Selecting a sample,

gfyyiig HAl, Th IRe ] fapfa BT, Th Collecting data and arriving at generalizations and

AT AT, ST Uhd HRAT SR JEAHRT 3R Conclusions.

frspe FeTer|
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4 feT 7T 9 R fER &Y

TRt BT AR gd TRYef0r H1ot Ifeyd § Fifes

3 Y RE b TIEIUT T FIHAT T TST AT |
Tg Y UPR &1 I B2

a) fETES
b) srgEu
¢) TEIaTAE®
d) Sfdw

Teh TR & 1Y UdTdl BT U THg ol $&
UM vefRid #dl §, Heard e

a) A

b) dh

) Th WPHM

) T dY Tb

C
d

Hed ofR Rerd Tie 5 7 9 g I &
a) 3fIHYUI ST

b) gehHTIHT Fcad

) SPICHP FHIIH Acadh

d) SRIF H Y DTS Tal

HRA § Re-37-U Serey gl
a) faenfafy

b) e

c) MR

d) 3fETT AmAa feurforest agst

3T 3T IST" T 82
a) T UK U YEbich
b) U UY it

) U IR Jdl

d) IWiad gt
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Consider the argument given below :
‘Pre- employment testing of teachers is
quite fair because doctors, architects and
engineers who are now employee had to
face such a testing’.

What type of argument it is ?

a) Deductive

b) Analogical

c) Psychological
d) Biological

A cluster of propositions with a structure
that exhibits some inference is called

a) Inference

b) Argument

c) An Explanation

d) Avalid argument

Mendeley and Research Gate are the
examples of:

a) Indexing Databases

b) Bookmarking Networks
c) Academic Social Network
d) None of the above

‘Research-in-progress’ database in India
is .

a) Vidyanidhi

b) Shodhganga

c) Shodhgangotri

d) Indian National Depository Library

“Web of Science” is

a) A Citation Index

b) A Bibliography

c) An Abstracting Service
d) All of the above
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2,8,7,3,4.2,6.1,82,7.1,10,9 HI I
FHIGR AT &1 BRI 2

a) 3.68

b) 4.46

c) 7.36

d) 6.46

3T 9 1A ST fagsrrgei= gof el 62
a) QH@FI

b) AZcTy

c) i

d) 370 Q P13 e

n DEfON & i & YR TR T t-U=Ier0r & fog

AT Bt AT 6

a) 2n-1

b) n-2

c) 2(n-1)

d n-1

fafeied o 9§ srdu™ & fod o § gt

g@mﬁﬁtﬁﬁﬁ B DT GRRT SUETHA 3D
?

1. qHE GBI

E

. Sl e
H fou Tu faweat & § T8 IW g
a) 1 3iR2
b) 2 3R 4
c) 3 3R 4
d) 4 3R 5

fafafea § T &9 91 T6 MY IuH0T 82
a) Uh U

SREEL

) PRGN

d) 3RE
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Simple arithmetic mean of 2, 8, 7, 3, 4.2,
6.1,8.2,7.1,10,9is

a) 3.68
b) 4.46
c) 7.36
d) 6.46

Which one of these is a data visualization
tool?

a) Excel

b) CiteSpace

c) Tableau

d) All of above

The degree of freedom for paired t-test
based on n pairs of observations is:

a) 2n-1
b) n—2
c) 2(n-1)
d n-1

The scope of employing ICT support is
relatively more in which of the following
stages of research?

Problem formulation

Hypothesis making

Data collection

Data analysis

. Data interpretation

Choose the correct answer from the

Gos W e

options given below:
a) land?2
b) 2and4
c) 3and4
d) 4and5

Which one of the following is a research
tool?

a) Graph

b) [lllustration

¢) Questionnaire

d) Diagram
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Ueh Bfa, YR T RO St A0 & Werd €,
FHeand gl

a) A

b) uReeuHr

% SR AAS AAR & a8 adb 8 I 3R 10
¥UY R U2 WEdT 81 3R 98 8% ITd 4000
FUY W Bl § <l Ufd ofiex Uid & 3 d arTd
FI1 RI?

a) 9 30

b) 9.90 Y

c) 8.88 ¥

d) SWRiad H I PS8

fraTe® MY B THT, TRON BT G HH 1
Bidl 87

a) yfafdfaad, fAtemon, e, sifefaan

b) e, sifafas, e, ufafdfaa,

c) T, tfdfom, ufafdfsa, Aeon

)

d) IWRIed H I HIs et

A e 6 A 3R B U &) wed € 6 P(A) =
0.6, P(B) = 0.2 3R P(A/B)=0.5| A9 P(A'/B') &
a) 1/10

b) 3/10

o) 38

d) 6/7

Tfe P(A B) = 70% 3fR P(B) = 85%, I P(A/B) fAF
Y fHYs IR 872

a) 14/17

b) 17/20

c) 7/8

d) 1/8
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An image, perception or concept that is
capable of measurement is
called

a) Scale
b)
c) Type

d) Variable

Hypothesis

Quantitative research uses
a) Inductive reasoning

b)
c) Abductive reasoning
d)

Deductive reasoning

None of the above

A car owner buys petrolat 8 rsand 10 rs
for two consecutive years. What
approximately is the avg cost per litre of
petrol if he spends 4000 rs each year?

a) 9rs

b) 9.90rs

c) 8.88rs

d) none of the above

In doing action research, what is the usual
sequence of steps?

a) Reflect, Observe, Plan, Act
b) Plan, Act, Observe, Reflect,
c) Plan, Act, Reflect, Observe
d) none of the above

Let A and B be two given events such that
P(A) = 0.6, P(B) = 0.2 and P(A/B) = 0.5.
Then P(A’/B’) is

a) 1/10

b) 3/10

c) 3/8

d) 6/7

If P(A n B) =70% and P(B) = 85%, then
P(A/B) is equal to

14/17
17/20
7/8
1/8

(@]
gezce
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2 @A 3R 5 BTelt el arel S o 7 Hapredt
STt ©, afe; arefese aR X Wi 8 ord fiel ot
T T UfafAfeIed SR 8, ol X AT &1 872

a) 0,1,2

b) 0,1,2,3

c o

d) 1,2

A 70% WAl H T ST g 3R B 85% HIHG! A
waﬁw%gﬁwﬁaw%aﬁaﬁaﬁmﬁw
|

a) 64%
b) 74%
c) 46%
d) 65.4%

?Hﬁﬁﬁ?mw&aﬁwmwmﬂm
?

a) SNHATHS ddb

b) TS I

c) 3fUBRUI dh

d) IWRIgd 7Y IS 8!

100 fHfafad & T o9 91 Hy= 37 emE fafy &

e o gt el §

a) TS AP! B! qYUdT &b Te0r Bt T fafd §

b) TS U 3RW H TYHeHdl & Gl URERI B
gfaffa s 8

¢) 3 AM® ¥U & o1 URIRT & e aF sifaardt
Il B AT gt § Aufiag TqTwarn

d) 3BT STANT DTS &b AIY-TTY YATd] Bl
gfafAfia &= & forg forar < war g
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Three balls are drawn from a bag
containing 2 red and 5 black balls, if the
random variable X represents the number
of red balls drawn, then X can take values

a) 0,1,2

b) 0,1,2,3

c) 0

d) 1,2

A speaks truth in 70% cases and B speaks
truth in 85% cases. The probability that
they speak the same fact is

a) 64%
b) 74%
c) 46%
d) 65.4%

Quialitative research uses

a) Inductive reasoning
b) Deductive reasoning
c) Abductive reasoning
d) None of the above

Which one of the following statement is
not correct in the context of Venn diagram
method

a) itis a method of testing the validity of
arguments
b) it represents both the premises of

syllogism in one diagram

c) it requires two overlapping circles for
the two premises of the standard form
categorical syllogism

d) it can be used to represent classes as
well as propositions
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